REMEDIAL WORKSHEETS FOR YEAR 6

Year: Date:

Answer the following questions:

1) Evaluate:
6kg 324g + 1kg 874g
= kg g

5
2) Write 6 > as an improper fraction.

3) What fraction of the figure is shaded?
Give your answer in simplest form.

4) Calculate:
45% of 5000

5) Evaluate: 3476 + 943

6) Solve the equation
8m-13 = 35
m=

7) Subtract 976 from 20087

8) Write in numerals:
Two million twenty-five thousand and three

1648+1152

9) Simplify: —

10) Find the value of
70 + (45X 3) + 5

11) Write the correct number to go in

the space below

+57 =97

12) There are two prime numbers
between 30 and 40. Write down these
two numbers. (Arrange your answer in
sequence)
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